
ASSEMBLY & INSTRUCTION MANUAL

READ AND SAVE THIS INSTRUCTIONS FOR FUTURE USE

�INdcd002V01_GL

D2-0048



B   M3.5*30   21pcs
C   M3*15      4pcs
D   M3*10      12pcs



C   M3*15      2pcsB   M3.5*30   12pcs

B   M3.5*30   4pcs C   M3*15      2pcs

B   M3.5*30   1pcs

C

B

B

C

B

B

C

B



B   M3.5*30    4pcs

D   M3*10      4pcs D   M3*10      8pcs

B

D

D

D
D

D

D




	页 1
	页 2
	页 3
	页 4
	页 5

